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CHAPTER 18 

QUESTIONS

1.
Earnings per share information is used by investors to evaluate the results of operations of a business and estimate future earnings. Because earnings are an important determinant of the market price of a company’s common stock, the EPS measurement will aid the investor in determining the attractiveness of an investment in a company’s stock. Earnings per share information is also used to judge the dividend policy of a business, which is another important determinant of market price.

2.
Earnings per share data have the same limitations that any income figure has under current generally accepted accounting principles. The alternative methods available for computing net income sometimes make comparison among companies difficult, and the condensed EPS figure does not remove this difficulty. In some cases, the existence of EPS data even increases the lack of comparability because EPS information is frequently disclosed separately from any note disclosure describing the accounting methods employed.

3.
The investor uses EPS to help forecast the future profitability of an investment. If potential future common stock transactions dilute the investor’s ownership interest in the company, future EPS will decline relative to the past figures under the same conditions. By preparing predictive EPS, the potential impact of conversion of convertible securities and exercise of stock options, warrants, or rights can be captured in the EPS figure.

4.
A simple capital structure consists only of common or common and preferred stock and includes no convertible securities, options, warrants, or rights that upon conversion or exercise would in the aggregate dilute EPS. A complex capital structure includes securities and rights that would have a dilutive effect on EPS if converted or exercised.

5.
The amount of shares that should be used in the computation of EPS is 30,000 (10,000 ( 3). The split should be accounted for as if it had taken place on January 1 of the earliest year presented.

6.
When a company issues a stock dividend, a stock split, or a reverse stock split, the number of shares of stock is changed, but there is no other effect on the corporation’s resources. To meaningfully compare EPS figures in the current period with earlier periods, the new capital structure should be reflected retroactively in all prior periods. The unit in which EPS is measured always should be uniform across accounting periods.

7.
Dilution of EPS refers to the effect that certain types of securities—whose terms enable their holders to acquire common shares—will have on EPS data if these securities are converted into common stock. If in a complex capital structure, conversion of convertible securities or exercise of options, warrants, or rights would reduce the EPS from what it would have been using only common shares outstanding, dilution of EPS has occurred.

8.
An antidilutive security is one whose terms permit it to be exercised or converted into common stock, but if converted, the EPS would be increased or the loss per share decreased from what it would have been using only common shares outstanding. Because of changing economic conditions, a security may be dilutive in one accounting period but antidilutive in another. If stock options, warrants, rights, or convertible securities are antidilutive, they are ignored in computing EPS. Antidilutive securities are ignored for two reasons. First, by doing so, diluted EPS gives a worst-case scenario for existing stockholders. Second, the economic terms of antidilutive securities suggest that the probability that they will be converted soon is low.

9.
The treasury stock method is a means of determining the extent of dilution in EPS arising from options, warrants, and rights. Under the treasury stock method, EPS is computed as though the options, warrants, and rights were exercised at the beginning of the period or at time of issuance, whichever comes later, and as though the funds obtained thereby were applied to the reacquisition of common stock at the market price for that period. The computation is necessary whenever the market price of the obtainable stock exceeds the exercise price of the options, warrants, or rights during the period.
10.
The interest expense related to convertible debt, net of taxes, should be added back to income (in the numerator) for the computation of EPS.

11.
The if-converted method assumes conversion of the security as of the beginning of the fiscal year or as of the date of issue, whichever comes later. It is used to compute EPS “as if” the securities were converted.

12.
When stock options are exercised, the new shares actually issued are included in the computation of all EPS amounts. The diluted EPS is computed as if the exercise took place as of the beginning of the year. In computing diluted EPS, the stock price at exercise date is used to compute the incremental number of shares assumed to be issued prior to the exercise date.


13.
The inclusion of stock options and convertible securities in the computation of EPS decreases the absolute value of the EPS. When a company experiences a net loss, the inclusion of these securities decreases the loss per share just as it decreases the income per share. Thus, inclusion of stock options and convertible securities would always be antidilutive under loss conditions.

14.‡
To obtain the lowest possible EPS amount, a company with multiple potentially dilutive securities first includes any dilutive stock options, warrants, or rights in the computations. If there are several convertible securities, the impact of each on EPS must be considered on an individual basis. The EPS amount can then be computed by including the convertible securities one at a time beginning with the security having the lowest incremental EPS. When the recomputed EPS is less than the incremental EPS of the next security, no additional convertible securities are considered in computing EPS.

‡Relates to Expanded Material.

PRACTICE EXERCISES

PRACTICE 18–1
SHARES OUTSTANDING: ISSUANCE AND REACQUISITION


Fraction of
Shares
Weighted-Average


Period


the Year

Outstanding

Shares


Jan. 1–Apr. 1
3/12
100,000
25,000

Apr. 1–Aug. 1
4/12
130,000
43,333

Aug. 1–Dec. 31
5/12
80,000
  33,333
Total


101,666
PRACTICE 18–2
SHARES OUTSTANDING: STOCK DIVIDENDS AND STOCK SPLITS


Fraction of
Shares
Adjustment
Weighted-Average


Period


the Year

Outstanding

Factor


Shares


Jan. 1–Mar. 1
2/12
100,000
2.0 ( 1.20
40,000

Mar. 1–June 1
3/12
200,000
1.20
60,000

June 1–Sept. 1
3/12
230,000
1.20
69,000

Sept. 1–Dec. 31
4/12
276,000
1.00
  92,000
Total



261,000
PRACTICE 18–3
IMPACT OF PREFERRED STOCK ON BASIC EPS

1.
When the preferred stock is not cumulative, an adjustment is made to basic EPS only for preferred dividends declared during the year.


Basic EPS = $220,000/100,000 common shares = $2.20 per share

2.
When the preferred stock is cumulative, an adjustment is made to basic EPS for all preferred dividends whether they are declared during the year or not.


Preferred dividends = 30,000 shares ( $100 par ( 5% = $150,000


Basic EPS = ($220,000 – $150,000)/100,000 common shares = $0.70 per share

PRACTICE 18–4
COMPUTATION OF BASIC EPS

Computation of weighted-average number of common shares outstanding:


Fraction of
Shares
Adjustment
Weighted-Average


Period


the Year

Outstanding

Factor


Shares


Jan. 1–Apr. 1
3/12
100,000
2.0
50,000

Apr. 1–Aug. 1
4/12
130,000
2.0
86,667

Aug. 1–Dec. 31
5/12
260,000
1.0
108,333
Total



245,000
Preferred dividends = 10,000 shares ( $50 par ( 8% = $40,000

Basic EPS = ($300,000 – $40,000)/245,000 common shares = $1.06 per share

PRACTICE 18–5
DILUTED EPS AND STOCK OPTIONS

1.
Hypothetical proceeds from the exercise of the options (40,000 ( $10) = 
$400,000


Number of shares that could be repurchased with hypothetical proceeds:



$400,000/$16 = 25,000 shares


Net increase in shares outstanding if options had been exercised and proceeds used to repurchase shares:



40,000 shares issued – 25,000 shares repurchased = 15,000 shares


Diluted EPS = $200,000/(100,000 + 15,000) = $1.74

2.
Hypothetical proceeds from the exercise of the options (40,000 ( $10) =
 $400,000


Number of shares that could be repurchased with hypothetical proceeds:



$400,000/$7 = 57,143 shares


Net decrease in shares outstanding if options had been exercised and proceeds used to repurchase shares:



40,000 shares issued – 57,143 shares repurchased =
17,143 shares


These options are antidilutive. In addition, it is unlikely that they will be exercised soon because the average stock price is less than the option exercise price. These options are ignored in the computation of diluted EPS.


Diluted EPS = $200,000/100,000 = $2.00

PRACTICE 18–6
STOCK OPTIONS ISSUED DURING THE YEAR

1.
Hypothetical proceeds from the exercise of the options (40,000 ( $10) =
 $400,000


Number of shares that could be repurchased with hypothetical proceeds:



$400,000/$4 = 100,000 shares


Net decrease in shares outstanding if options had been exercised and proceeds used to repurchase shares:



40,000 shares issued – 100,000 shares repurchased = 60,000 shares


These options are antidilutive. In addition, it is unlikely that they will be exercised soon because the average stock price is less than the option exercise price. These options are ignored in the computation of diluted EPS.


Diluted EPS = $200,000/100,000 = $2.00

PRACTICE 18–6
(Concluded)

2.
Hypothetical proceeds from the exercise of the options (40,000 ( $10) =
 $400,000


Number of shares that could be repurchased with hypothetical proceeds:



$400,000/$13 = 30,769 shares


Net increase in shares outstanding if options had been exercised and proceeds used to repurchase shares:



40,000 shares issued – 30,769 shares repurchased =
 9,231 shares


Weighted-average number of additional shares from options: 9,231 ( (4/12) = 3,077


Diluted EPS = $200,000/(100,000 + 3,077) = $1.94

PRACTICE 18–7
DILUTED EPS AND CONVERTIBLE PREFERRED STOCK


Preferred dividends = 10,000 shares ( $100 par ( 5% = $50,000


Basic EPS = ($200,000 ( $50,000)/100,000 common shares = $1.50 per share

1.
If the preferred shares had been converted at the beginning of the year:



40,000 additional common shares (10,000 ( 4) would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.


Preliminary diluted EPS calculation: $200,000/(100,000 + 40,000) = $1.43 per share


Conversion of these preferred shares would decrease earnings per share ($1.43 < $1.50). Thus, they are dilutive and are included in the calculation of diluted EPS. In addition, it is likely that the preferred shareholders would give up their preferred dividends of $5.00 ($100 ( 0.05) per share to join the common stockholders and earn $6.00 per share (basic EPS of $1.50 ( 4 converted shares).


Diluted EPS = $1.43 per share

2.
If the preferred shares had been converted at the beginning of the year:



10,000 additional common shares (10,000 ( 1) would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.


Preliminary diluted EPS calculation: $200,000/(100,000 + 10,000) = $1.82 per share


Conversion of these preferred shares would increase earnings per share ($1.82 > $1.50). Thus, they are antidilutive and are ignored in the calculation of diluted EPS. In addition, it is unlikely that the preferred shareholders would give up their preferred dividends of $5.00 ($100 ( 0.05) per share to get one share and join the common stockholders who are earning basic EPS of $1.50 per share.


Diluted EPS = Basic EPS = $1.50 per share

PRACTICE 18–8
CONVERTIBLE PREFERRED STOCK ISSUED DURING THE YEAR


Preferred dividends = 10,000 shares ( $100 par ( 5% = $50,000


Basic EPS = ($200,000 ( $50,000)/100,000 common shares = $1.50 per share

1.
If the preferred shares had been converted on February 1 when they were issued:



45,833 additional common shares [10,000 ( 5 ( (11/12)] would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.


Preliminary diluted EPS calculation: $200,000/(100,000 + 45,833) = $1.37 per share


Conversion of these preferred shares would decrease earnings per share ($1.37 < $1.50). Thus, they are dilutive and are included in the calculation of diluted EPS. In addition, it is likely that the preferred shareholders would give up their preferred dividends of $5.00 ($100 ( 0.05) per share to join the common stockholders and earn $7.50 per share (basic EPS of $1.50 ( 5 converted shares).


Diluted EPS = $1.37 per share

2.
If the preferred shares had been converted on February 1 when they were issued:



9,167 additional common shares [10,000 ( 1 ( (11/12)] would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.


Preliminary diluted EPS calculation: $200,000/(100,000 + 9,167) = $1.83 per share


Conversion of these preferred shares would increase earnings per share ($1.83 > $1.50). Thus, they are antidilutive and are ignored in the calculation of diluted EPS. In addition, it is unlikely that the preferred shareholders would give up their preferred dividends of $5.00 ($100 ( 0.05) per share to get one share and join the common stockholders who are earning basic EPS of $1.50 per share.


Diluted EPS = Basic EPS = $1.50 per share

PRACTICE 18–9
DILUTED EPS AND CONVERTIBLE BONDS


Basic EPS = $200,000/100,000 common shares = $2.00 per share


Interest on convertible bonds = 500 bonds ( $1,000 face value ( 10% = $50,000


After-tax cost of interest on convertible bonds = $50,000 ( (1 – 0.40) = $30,000

1.
If the convertible bonds had been converted at the beginning of the year:



20,000 additional common shares (500 ( 40) would have been outstanding.


The $30,000 in after-tax interest would have been available to all common stockholders.


Preliminary diluted EPS calculation: ($200,000 + $30,000)/(100,000 + 20,000) = $1.92 per share


Conversion of these bonds would decrease earnings per share ($1.92 < $2.00). Thus, they are dilutive and are included in the calculation of diluted EPS.


Diluted EPS = $1.92 per share

2.
If the convertible bonds had been converted at the beginning of the year:



5,000 additional common shares (500 ( 10) would have been outstanding.


The $30,000 in after-tax interest would have been available to all common stockholders.


Preliminary diluted EPS calculation: ($200,000 + $30,000)/(100,000 + 5,000) = $2.19 per share


Conversion of these bonds would increase earnings per share ($2.19 > $2.00). Thus, they are antidilutive and are not included in the calculation of diluted EPS.


Diluted EPS = Basic EPS = $2.00 per share

PRACTICE 18–10
CONVERTIBLE BONDS ISSUED DURING THE YEAR


Basic EPS = $200,000/100,000 common shares = $2.00 per share


Interest on convertible bonds = 500 bonds ( $1,000 face value ( 10% ( (3/12) = $12,500


After-tax cost of interest on convertible bonds = $12,500 ( (1 – 0.40) = $7,500

1.
If the convertible bonds had been converted on October 1 when they were issued:



6,250 additional common shares [500 ( 50 ( (3/12)] would have been outstanding.



The $7,500 in after-tax interest would have been available to all common stockholders.


Preliminary diluted EPS calculation: ($200,000 + $7,500)/(100,000 + 6,250) = $1.95 per share


Conversion of these bonds would decrease earnings per share ($1.95 < $2.00). Thus, they are dilutive and are included in the calculation of diluted EPS.


Diluted EPS = $1.95 per share

2.
If the convertible bonds had been converted on October 1 when they were issued:



1,875 additional common shares [500 ( 15 ( (3/12)] would have been outstanding.



The $7,500 in after-tax interest would have been available to all common stockholders.


Preliminary diluted EPS calculation: ($200,000 + $7,500)/(100,000 + 1,875) = $2.04 per share


Conversion of these bonds would increase earnings per share ($2.04 > $2.00). Thus, they are antidilutive and are not included in the calculation of diluted EPS.


Diluted EPS = Basic EPS = $2.00 per share

PRACTICE 18–11
SHORTCUT ANTIDILUTION TESTS

1.
Preferred dividends = 10,000 shares ( $100 par ( 0.05 = $50,000


Basic EPS = ($300,000 ( $50,000)/100,000 common shares = $2.50 per share


Incremental impact on EPS:


$50,000 dividends/(10,000 ( 3 new shares) = $1.67 per share


Incremental impact is less than the basic EPS ($1.67 < $2.50), so the convertible preferred shares are dilutive.

PRACTICE 18–11
(Concluded)

2.
Basic EPS = $300,000/100,000 common shares = $3.00 per share


Interest on convertible bonds = 500 bonds ( $1,000 face value ( 0.10 = $50,000


After-tax cost of interest on convertible bonds = $50,000 ( (1 – 0.30) = $35,000


Incremental impact on EPS:


$35,000 after-tax interest/(500 ( 25 new shares) = $2.80 per share


Incremental impact is less than the basic EPS ($2.80 < $3.00), so the convertible bonds are dilutive.

3.
Preferred dividends = 20,000 shares ( $50 par ( 0.10 = $100,000


Basic EPS = ($300,000 ( $100,000)/100,000 common shares = $2.00 per share


Incremental impact on EPS:


$100,000 dividends/(20,000 ( 2 new shares) = $2.50 per share


Incremental impact is greater than the basic EPS ($2.50 > $2.00), so the convertible preferred shares are antidilutive.

4.
Basic EPS = $300,000/100,000 common shares = $3.00 per share


Interest on convertible bonds = 2,000 bonds ( $1,000 face value ( 0.08 = $160,000


After-tax cost of interest on convertible bonds = $160,000 ( (1 – 0.30) = $112,000


Incremental impact on EPS:


$112,000 after-tax interest/(2,000 ( 15 new shares) = $3.73 per share


Incremental impact is greater than the basic EPS ($3.73 > $3.00), so the convertible bonds are antidilutive.

PRACTICE 18–12
BASIC AND DILUTED EPS AND ACTUAL CONVERSION OF STOCK OPTIONS

1.


Fraction of
Shares
Weighted-Average


Period


the Year

Outstanding

Shares


Jan. 1–Apr. 1
3/12
100,000
25,000

Apr. 1–Dec. 31
9/12
140,000
105,000
Total


130,000
Basic EPS: $200,000/130,000 shares = $1.54

PRACTICE 18–12
(Concluded)
2.
Hypothetical proceeds from the exercise of the options on January 1 (40,000 ( $10) = $400,000


Number of shares that could be repurchased with hypothetical proceeds:



$400,000/$15 (use stock price on actual exercise date) = 26,667 shares


Net increase in shares outstanding on January 1 if options had been exercised and proceeds used to repurchase shares:



40,000 shares issued – 26,667 shares repurchased = 13,333 shares


Weighted-average increase in shares: 13,333 ( (3/12) = 3,333


Diluted EPS = $200,000/(130,000 + 3,333) = $1.50

PRACTICE 18–13
BASIC AND DILUTED EPS AND ACTUAL CONVERSION OF CONVERTIBLE PREFERRED

1.


Fraction of
Shares
Weighted-Average


Period


the Year

Outstanding

Shares


Jan. 1–Sept. 1
8/12
100,000
66,667

Sept. 1–Dec. 31
4/12
140,000
  46,667
Total


113,334

Preferred dividends = 10,000 shares ( $100 par ( 0.05 = $50,000


Basic EPS: ($200,000 ( $50,000)/113,334 shares = $1.32

2.
If the preferred shares had been converted on January 1:



26,667 additional weighted-average common shares [10,000 ( 4 ( (8/12)] would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.


Preliminary diluted EPS calculation: $200,000/(113,334 + 26,667) = $1.43 per share


Hypothetical conversion of these preferred shares would increase earnings per share ($1.43 > $1.32). Thus, they are antidilutive and are not included in the calculation of diluted EPS. 


Diluted EPS = $1.32 per share


Note that in this case, if the preferred dividends had not been paid before the conversion, both basic EPS and diluted EPS would have been different.


Basic EPS: $200,000/113,334 shares = $1.76


Diluted EPS: $200,000/(113,334 + 26,667) = $1.43

PRACTICE 18–14
BASIC AND DILUTED EPS AND ACTUAL CONVERSION OF CONVERTIBLE BONDS

1.


Fraction of
Shares
Weighted-Average


Period


the Year

Outstanding

Shares


Jan. 1–Aug. 1
7/12
100,000
58,333

Aug. 1–Dec. 31
5/12
120,000
  50,000
Total


108,333
Basic EPS: $200,000/108,333 shares = $1.85

2.
Preconversion interest on convertible bonds = 500 bonds ( $1,000 face value ( 0.10 ( (7/12) = $29,167


After-tax cost of interest on convertible bonds = $29,167 ( (1 – 0.40) = $17,500


If the convertible bonds had been converted on January 1:



11,667 additional weighted-average common shares [500 ( 40 ( (7/12)] would have been outstanding.



The $17,500 in after-tax interest would have been available to all common stockholders.


Preliminary diluted EPS calculation: ($200,000 + $17,500)/(108,333 + 11,667) = $1.81 per share


Conversion of these bonds would decrease earnings per share ($1.81 < $1.85). Thus, they are dilutive and are included in the calculation of diluted EPS.


Diluted EPS = $1.81 per share

PRACTICE 18–15
DILUTED EPS AND A LOSS

1a.
Preferred dividends = 10,000 shares ( $100 par ( 0.05 = $50,000


Basic EPS: (–$300,000 – $50,000)/100,000 shares = $(3.50) per share

2a.
If the preferred shares had been converted at the beginning of the year:


30,000 additional common shares (10,000 ( 3) would have been outstanding.


The $50,000 in preferred dividends would have been available to all common stockholders.


Preliminary diluted EPS calculation: –$300,000/(100,000 + 30,000) = $(2.31) per share


Conversion of these preferred shares would increase earnings per share (–$2.31 > –$3.50). Thus, they are antidilutive and are not included in the calculation of diluted EPS. When the company reports a net loss, all potentially dilutive convertible securities are antidilutive.


Diluted EPS = $(3.50) per share

PRACTICE 18–15
(Concluded)

1b.
Basic EPS = –$300,000/100,000 common shares = $(3.00) per share

2b.
Interest on convertible bonds = 500 bonds ( $1,000 face value ( 0.10 = $50,000


After-tax cost of interest on convertible bonds = $50,000 ( (1 – 0.30) = $35,000


If the convertible bonds had been converted at the beginning of the year:



12,500 additional common shares (500 ( 25) would have been outstanding.



The $35,000 in after-tax interest would have been available to all common stockholders.


Preliminary diluted EPS calculation: (–$300,000 + $35,000)/(100,000 + 12,500) = $(2.36) per share


Conversion of these bonds would increase earnings per share (–$2.36 > –$3.00). Thus, they are antidilutive and are not included in the calculation of diluted EPS. When the company reports a net loss, all potentially dilutive convertible securities are antidilutive.


Diluted EPS = $(3.00) per share

1c.
Basic EPS = –$300,000/100,000 common shares = $(3.00) per share

2c.
Hypothetical proceeds from the exercise of the options (40,000 ( $10) = $400,000


Number of shares that could be repurchased with hypothetical proceeds:



$400,000/$16 = 25,000 shares


Net increase in shares outstanding if options had been exercised and proceeds used to repurchase shares:



40,000 shares issued – 25,000 shares repurchased = 15,000 shares


Diluted EPS = –$300,000/(100,000 + 15,000) = $(2.61) per share


Exercise of these options would increase earnings per share (–$2.61 > –$3.00). Thus, they are antidilutive and are not included in the calculation of diluted EPS. In addition, cases in which the net number of shares outstanding would be reduced by the exercise of the options (i.e., when the exercise price is greater than the average market price) are always ignored (whether a company has net income or a net loss) in computing diluted EPS. 


Diluted EPS = $(3.00) per share

PRACTICE 18–16
MULTIPLE POTENTIALLY DILUTIVE SECURITIES

1.
Preferred dividends = 10,000 shares ( $100 par ( 0.05 = $50,000


Basic EPS: ($300,000 – $50,000)/100,000 shares = $2.50 per share

2.
Determination of whether each potentially dilutive security is dilutive:


a.
Hypothetical proceeds from the exercise of the options (30,000 ( $10) = $300,000



Number of shares that could be repurchased with hypothetical proceeds:




$300,000/$18 = 16,667 shares



Net increase in shares outstanding if options had been exercised and proceeds used to repurchase shares:




30,000 shares issued – 16,667 shares repurchased = 13,333 shares



Because the average stock price is greater than the exercise price, these stock options are dilutive.



Intermediate diluted EPS: ($300,000 ( $50,000)/(100,000 + 13,333) = $2.21 per share



This is the new benchmark to determine whether a security is dilutive or not.


b.
If the preferred shares had been converted at the beginning of the year:




40,000 additional common shares (10,000 ( 4) would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.



Incremental EPS of convertible preferred shares: $50,000/40,000 shares = $1.25 per share


c.
Interest on convertible bonds = 500 bonds ( $1,000 face value ( 0.10 = $50,000



After-tax cost of interest on convertible bonds = $50,000 ( (1 – 0.40) = $30,000



If the convertible bonds had been converted at the beginning of the year:




20,000 additional common shares (500 ( 40) would have been outstanding.



The $30,000 in after-tax interest would have been available to all common stockholders.



Incremental EPS of bonds: $30,000/20,000 shares = $1.50 per share



Include the potentially dilutive security with the smallest incremental EPS first.

PRACTICE 18–16
(Concluded)



Convertible preferred shares ($1.25 incremental EPS):




Intermediate diluted EPS:




Income: ($300,000 – $50,000 + $50,000)




Shares: (100,000 + 13,333 + 40,000)




= $1.96 per share



The incremental contribution of the convertible bonds is still lower than this intermediate diluted EPS number ($1.50 < $1.96), so the convertible bonds are also included.



Convertible bonds ($1.50 incremental EPS):



Diluted EPS:




Income: ($300,000 – $50,000 + $50,000 + $30,000)




Shares: (100,000 + 13,333 + 40,000 + 20,000)




= $1.90 per share

PRACTICE 18–17
MULTIPLE POTENTIALLY DILUTIVE SECURITIES

1.
Preferred dividends = 10,000 shares ( $100 par ( 0.05 = $50,000


Basic EPS: ($220,000 ( $50,000)/100,000 shares = $1.70 per share

2.
Determination of whether each potentially dilutive security is dilutive:


a.
Hypothetical proceeds from the exercise of the options (30,000 ( $10) = $300,000



Number of shares that could be repurchased with hypothetical proceeds:




$300,000/$7 = 42,857 shares



Net decrease in shares outstanding if options had been exercised and proceeds used to repurchase shares:




30,000 shares issued – 42,857 shares repurchased = 12,857 shares



Because the average stock price is less than the exercise price, these stock options are antidilutive.


b.
If the preferred shares had been converted at the beginning of the year:




30,000 additional common shares (10,000 ( 3) would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.



Incremental EPS of convertible preferred shares: $50,000/30,000 shares = $1.67 per share

PRACTICE 18–17
(Concluded)


c.
Interest on convertible bonds = 500 bonds ( $1,000 face value ( 0.10 = $50,000



After-tax cost of interest on convertible bonds = $50,000 ( (1 – 0.40) = $30,000



If the convertible bonds had been converted at the beginning of the year:




25,000 additional common shares (500 ( 50) would have been outstanding.



The $30,000 in after-tax interest would have been available to all common stockholders.



Incremental EPS of bonds: $30,000/25,000 shares = $1.20 per share



Include the potentially dilutive security with the smallest incremental EPS first.



Convertible bonds ($1.20 incremental EPS):




Intermediate diluted EPS:




Income: ($220,000 ( $50,000 + $30,000)




Shares: (100,000 + 25,000)




= $1.60 per share



The incremental contribution of the convertible preferred shares is not lower than this intermediate diluted EPS number ($1.67 > $1.60), so the convertible shares are antidilutive. This exercise demonstrates the importance of doing the dilution comparisons in the correct order. If the $1.67 incremental EPS contribution of the convertible preferred shares had been compared to the $1.70 basic EPS, they would have incorrectly been included.



Diluted EPS = $1.60 per share

PRACTICE 18–18
EPS AND FINANCIAL STATEMENT PRESENTATION

Number of shares used in the basic EPS calculations: 100,000

Number of shares used in the diluted EPS calculations:


Hypothetical proceeds from the exercise of the options (50,000 ( $10) = $500,000


Number of shares that could be repurchased with hypothetical proceeds:



$500,000/$14 = 35,714 shares


Net increase in shares outstanding if options had been exercised and proceeds used to repurchase shares:



50,000 shares issued – 35,714 shares repurchased = 14,286 shares



Shares used for diluted EPS calculations = 100,000 + 14,286 = 114,286


Basic EPS
Diluted EPS
Income from continuing operations
$
1.92
$
1.68

Extraordinary loss (net of taxes)
(0.50)
(0.44)

Discontinued operations (net of taxes)

(0.35)

(0.31)

Net income
$
1.07
$
0.94*
*Diluted EPS numbers do not sum to the total because of rounding.

PRACTICE 18–19
COMPREHENSIVE CALCULATION OF DILUTED EPS

1.
Weighted-average number of shares outstanding for the year:


Fraction of
Shares
Adjustment
Weighted-Average


Period


the Year

Outstanding

Factor


Shares


Jan. 1–June 1
5/12
100,000
2.0
83,333

June 1–Dec. 1
6/12
125,000
2.0
125,000

Dec. 1–Dec. 31
1/12
250,000
1.0
  20,833
Total



229,166


Preferred dividends = 10,000 shares ( $100 par ( 0.05 = $50,000


Basic EPS: ($300,000 – $50,000)/229,166 shares = $1.09 per share

PRACTICE 18–19
(Continued)

2.
Determination of whether each potentially dilutive security is dilutive:


a.
Hypothetical proceeds from the exercise of the options [30,000 ( 2.0 ( ($10/2)] = $300,000



Number of shares that could be repurchased with hypothetical proceeds:




$300,000/($18/2) = 33,333 shares



Net increase in shares outstanding if options had been exercised and proceeds used to repurchase shares:




60,000 post-split shares issued – 33,333 post-split shares repurchased = 26,667 shares



Because the average stock price is greater than the exercise price, these stock options are dilutive.



Intermediate diluted EPS: ($300,000 ( $50,000)/(229,166 + 26,667) = $0.98 per share



This is the new benchmark to determine whether a security is dilutive or not.


b.
If the preferred shares had been converted at the beginning of the year:




80,000 additional post-split common shares (10,000 ( 4 ( 2) would have been outstanding.



The $50,000 in preferred dividends would have been available to all common stockholders.



Incremental EPS of convertible preferred shares: $50,000/80,000 shares = $0.63 per share


c.
Interest on convertible bonds = 500 bonds ( $1,000 face value ( 0.10 = $50,000



After-tax cost of interest on convertible bonds = $50,000 ( (1 – 0.40) = $30,000



If the convertible bonds had been converted at the beginning of the year:




40,000 additional post-split common shares (500 ( 40 ( 2) would have been outstanding.



The $30,000 in after-tax interest would have been available to all common stockholders.



Incremental EPS of bonds: $30,000/40,000 shares = $0.75 per share



Include the potentially dilutive security with the smallest incremental EPS first.

PRACTICE 18–19
(Concluded)



Convertible preferred shares ($0.63 incremental EPS):




Intermediate diluted EPS:




Income: ($300,000 ( $50,000 + $50,000)




Shares: (229,166 + 26,667 + 80,000)




= $0.89 per share



The incremental contribution of the convertible bonds is still lower than this intermediate diluted EPS number ($0.75 < $0.89), so the convertible bonds are also included.



Convertible bonds ($0.75 incremental EPS):




Diluted EPS:




Income: ($300,000 ( $50,000 + $50,000 + $30,000)




Shares: (229,166 + 26,667 + 80,000 + 40,000)




= $0.88 per share

EXERCISES

18–20.


Increase/Decrease



in No. of Shares



Jan. 1 to Feb. 1
44,000
(
1/12
( 3*
( 1.25†
=
13,750
(44,000 + 56,000)


Feb. 1 to May 1
100,000
(
3/12
( 3
( 1.25
=
93,750
(100,000 – 25,000)


May 1 to Aug. 1
75,000
(
3/12
( 3
( 1.25
=
70,313
(75,000 ( 1.25)


Aug. 1 to Sept. 1
93,750
(
1/12
( 3

=
23,437
(93,750 + 10,000)


Sept. 1 to Nov. 1
103,750
(
2/12
( 3

=
51,875
(103,750 ( 3)


Nov. 1 to Dec. 31
311,250
(
2/12


=

51,875

Weighted-average number of shares 


outstanding

305,000


*3-for-1 stock split


†25% stock dividend

18–21.
Weighted-average number of shares outstanding, 2008:

Jan. 1 to Apr. 1—200,000 ( 1.1 ( 2.0 ( 3/12

110,000

Apr. 1 to Oct. 1—200,000 + (50 ( 2,500) = 325,000;

325,000 ( 1.1 ( 2.0 ( 6/12

357,500

Oct. 1 to Dec. 31—325,000 ( 1.1 = 357,500;

357,500 + 7,000 = 364,500; 364,500 ( 2.0 ( 3/12

182,250
Weighted-average number of common shares

649,750

Weighted-average number of shares outstanding, 2009:

Jan. 1 to Oct. 1—364,500 ( 2.0 = 729,000; 729,000 ( 9/12

546,750

Oct. 1 to Dec. 31—(729,000 + 170,000) ( 3/12

224,750

Weighted-average number of common shares

771,500

18–22.
Computation of shares outstanding (working backward):


Oct. 1 to Dec. 31

581,900*


July 1 to Oct. 1

529,000†

May 1 to July 1

514,000**

Apr. 1 to May 1

257,000§

Feb. 1 to Apr. 1

260,000#

Jan. 1 to Feb. 1

220,000***

COMPUTATIONS:


*
Total dividends divided by dividend per share at Dec. 31 ($407,330/$0.70)


†
Shares outstanding before 10% stock dividend at Oct. 1 (581,900/1.10)


**
Shares outstanding before July 1 stock sale (529,000 – 15,000)


§
Shares outstanding before 2-for-1 stock split on May 1 (514,000/2)


#
Shares outstanding before purchase of treasury stock on Apr. 1 


(257,000 + 3,000)


***
Shares outstanding before Feb. 1 stock sale (260,000 – 40,000)

18–22.
(Concluded)


Computation of weighted-average shares:

Jan. 1 to Feb. 1
220,000 ( 2 (stock split) ( 1.10 (stock


dividend) ( 1/12

40,333*

Feb. 1 to Apr. 1
260,000 ( 2 (stock split) ( 1.10 (stock


dividend) ( 2/12

95,333*

Apr. 1 to July 1
257,000 ( 2 (stock split) ( 1.10 (stock


dividend) ( 3/12

141,350

July 1 to Dec. 31
(514,000 + 15,000) ( 1.10 (stock


dividend) ( 6/12

290,950

Weighted-average shares 2008

567,966

*Rounded.

18–23.
2008

Computation of earnings:

Income before income taxes

$753,200

Less: Income taxes (30%)


225,960

Net income

$527,240

Less: Preferred dividend


80,000
Net income identified with common stock

$447,240


Computation of weighted-average number of shares:

30,000 ( 9/12 =
22,500

50,000 ( 3/12 =
12,500


35,000

Basic EPS: $447,240/35,000

$
12.78


2009
Computation of earnings:

Income before income taxes

($527,000 – $37,000)

$490,000

Less: Income taxes (30%)


147,000
Income before extraordinary items

$343,000

Less: Dividend requirement on cumulative

10% preferred


80,000
Income before extraordinary items identified with 

common stock

$263,000

Extraordinary gain

$37,000

Less: Income taxes (30%)


11,100
Extraordinary gain net of taxes


25,900
Net income identified with common stock

$288,900

18–23.
(Concluded)

Computation of weighted-average number of shares:

50,000 ( 3/12 = 
12,500

80,000 ( 9/12 = 
60,000

72,500

Basic EPS:

Income before extraordinary items ($263,000/72,500)

$3.63

Extraordinary gain ($25,900/72,500)



0.36
Net income ($288,900/72,500)


$3.98*
*Diluted EPS numbers do not sum to the total because of rounding.

18–24.
Basic EPS:




a


b



c


Income from continuing operations

$
1.05*
$
0.75†

$
0.60**

Loss from disposal of segment ($4,200/
20,000)


(0.21)

(0.21)


(0.21)


Net income


$
0.84

$
0.54

$
0.39

*$21,000/20,000 = $1.05


†Income from continuing operations

$21,000


Dividend requirement on cumulative preferred ($75,000 ( 0.08)

    6,000

Income from continuing operations identified with common 


stock

$15,000

Earnings per share: $15,000/20,000 = $0.75

**Income from continuing operations less dividend require-


ment on 8% cumulative preferred stock

$15,000


Dividends declared on 7% noncumulative preferred

    3,000

Income from continuing operations identified with common 


stock

$12,000

Earnings per share: $12,000/20,000 = $0.60

18–25.
a.
After-tax interest:




$500,000 ( 0.075 = $37,500; $37,500 ( 0.65* = $24,375



Contribution per share:




$24,375/12,500 shares (500 bonds ( 25 shares per bond) = $1.95



The contribution is greater than the $1.54 basic EPS; therefore, the bond conversion is antidilutive.


*The after-tax rate: 100% – 35% tax rate = 65%


b.
Contribution per share:




30,000 shares ( $6 per share = $180,000; $180,000/90,000 shares




(30,000 preferred shares ( 3 shares of common for each preferred




share) = $2.00



The contribution is greater than the $1.54 basic EPS; the security is 
antidilutive.

18–25.
(Concluded)


c.
The average market price exceeds the exercise price; assumed conversion is dilutive.


d.
After-tax interest:




$800,000 ( 0.11 = $88,000; $88,000 ( 0.65 = $57,200



Contribution per share:




$57,200/20,000 shares (800 bonds ( 25 shares per bond) = $2.86



The contribution is greater than the $1.54 basic EPS; the convertible bonds are antidilutive.


e.
Contribution per share:




$1,000,000 ( 0.07 = $70,000; $70,000/50,000 shares (10,000 ( 5) = $1.40



The contribution is less than the $1.54 basic EPS; the security is dilutive.

18–26.
Number of shares to be used in computing diluted EPS:

Actual number of shares outstanding 

during entire year

68,000

Incremental shares:

On assumed exercise of options


9,000

Less: Assumed repurchase of shares 

with proceeds from exercise of options 

(9,000 ( $7)/$10.50


6,000

3,000

71,000
18–27.
Application of proceeds from assumed exercise of options 


outstanding to purchase treasury stock:



Proceeds from assumed exercise of options, 40,000 ( $14

$
560,000



Number of outstanding shares that could be repurchased 



with proceeds from options, $560,000/$20

28,000



Number of incremental shares to be used in computing 



diluted EPS:




Incremental shares:





On assumed exercise of options

40,000





Less: Maximum assumed repurchase of shares 





from proceeds of options


28,000




Total incremental shares for diluted EPS


12,000

18–28.
Basic EPS:



Net income



$75,000



Number of common shares outstanding


÷
10,000


Basic EPS


$
7.50


Diluted EPS:



Net income



$
75,000



Add interest on convertible bonds, net 

of taxes:

Interest, $45,000 ( 0.09

$4,050

Less: Income taxes of 30%


1,215

2,835


Adjusted net income

$
77,835


Actual number of shares outstanding


10,000



Additional shares issued on assumed 



conversion of bonds


4,000


Adjusted number of shares


14,000


Diluted EPS, $77,835/14,000


$5.56

18–29.
Basic EPS:



Income before extraordinary gain 

($199,800/100,000)






$2.00



Extraordinary gain ($43,520/100,000)







0.43*



Net income






$2.43


*Rounded down.


Diluted EPS:



Income before extraordinary gain



$
199,800



Add interest on convertible bonds, net 

of taxes:

Interest ($800,000 ( 0.05)

$
40,000

Less: Income taxes (30%)


12,000

28,000


Adjusted income before extraordinary gain



$
227,800


Actual number of shares outstanding




100,000



Additional shares assumed issued on 

conversion (50 ( 800)




40,000


Total shares for computing diluted EPS




140,000


Diluted EPS:

Income before extraordinary gain 

($227,800/140,000)



$1.63

Extraordinary gain ($43,520/140,000)



0.31
Net income


$1.94

18–30.
1.
Because the preferred stock is noncumulative and no preferred dividends were declared or paid, no adjustment to income for preferred dividends is required.




Per




Totals

Share


Basic loss per share:



Loss from operations

$(190,000)



Actual number of common shares 



outstanding


(200,000


Basic loss per share 



($190,000/200,000)




$(0.95)



Diluted loss per share:




Because Van Horn had an operating loss, no adjustment for the assumed conversion of the preferred stock is required. If the preferred stock were converted, the number of shares would be increased by 36,000 shares. The new computation, therefore, would be –$190,000/236,000 = $(0.81) per share. This figure is antidilutive because it is a lower loss per share than the basic loss per share.


2.
Because the preferred stock is cumulative, an income adjustment is necessary for preferred dividends.




Per




Totals

Share

Basic loss per share:



Loss from operations

$(190,000)



Less: Preferred dividends

    (72,000)



Loss identified with common stock

$(262,000)



Actual number of common shares 



outstanding

÷
200,000



Basic loss per share 



(–$262,000/200,000)




$(1.31)

Again, the conversion of the preferred stock is antidilutive because of the operating loss.

18–31.
Basic EPS:

Net income

$950,000

Weighted-average number of shares:

Jan. 1 to May 1

800,000
(
4/12

266,667*

May 1—Issue

50,000
May 1 to Aug. 1

850,000
(
3/12

212,500

Aug. 1—Purchase
100,000
Aug. 1 to Oct. 1

750,000
(
2/12

125,000

Conversion

160,000
Oct. 1 to Dec. 31

910,000
(
3/12

227,500



Total weighted-average shares

831,667

Basic EPS: $950,000/831,667 = $1.14

*Rounded.


Diluted EPS:
Test convertible bonds for dilution:



($1,000 ( 0.11 ( 0.70)/80 = $0.96. Since $0.96 is less than $1.14, the bonds are dilutive and will be considered in computing diluted EPS.

Income:


Income and number of shares are adjusted on the basis that conversion occurred at the beginning of the year. This requires two computations: the effect of the assumed conversion of the converted bonds for the period January 1 to October 1 and the effect of the assumed conversion of the nonconverted bonds for the entire year.

$950,000 + ($2,000,000 ( 0.11 ( 9/12 ( 0.70) + ($3,000,000 ( 0.11 ( 0.70) = 

$950,000 + $115,500 + $231,000 = $1,296,500



Alternatively, the computation could be made by computing the effect on income and number of shares assuming no conversion and deducting the effect of the conversion.

$950,000 + ($5,000,000 ( 0.11 ( 0.70) – ($2,000,000 ( 0.11 ( 0.70 ( 3/12) = 

$950,000 + $385,000 – $38,500 = $1,296,500

Shares:

Weighted- average number of shares—basic

831,667

Additional shares for converted bonds assuming conversion 

at January 1 rather than October 1 (2,000 ( 80 ( 9/12)

120,000

Additional shares assuming $3,000,000 bonds not converted

were converted at January 1 (3,000 ( 80)

   240,000
Weighted-average number of shares

1,191,667*

Diluted EPS ($1,296,500/1,191,667)

$1.09
*Alternatively, the number of shares can be computed as follows:


831,667 + (5,000 ( 80) – (2,000 ( 80 ( 3/12) = 


831,667 + 400,000 – 40,000 = 1,191,667

18–32.
1.
The books of Yorke Corporation reflect a complex capital structure because convertible bonds are outstanding and dilution would result from their conversion.


2.
Under FASB Statement No. 128, complex capital structures require two EPS figures. Basic EPS is based on actual income and actual shares outstanding. Diluted EPS is based on common stock outstanding and all dilutive convertible securities, stock options, warrants, or rights.




Each EPS figure (basic and diluted) should be shown for income before below-the-line items and for below-the-line items separately, with a total EPS for net income.



Step 1—Basic EPS:




Computation of earnings:





Income before extraordinary loss

$715,000





Less: Dividends on preferred stock


35,000




Income before extraordinary loss identified with

common stock

$680,000





Extraordinary loss, net of taxes


(16,000)





Net income identified with common stock

$664,000




Computation of number of shares:





Jan. 1 to Apr. 30—150,000 ( 1.05 (5% stock 





dividend) ( 4/12


52,500





May 1 to July 1—190,000 ( 1.05 (5% stock 





dividend) ( 2/12


33,250





July 1 to Dec. 31—199,500 ( 6/12


99,750




Weighted-average shares

185,500



Basic EPS:





Income before extraordinary loss ($680,000/185,500)

$3.67





Extraordinary loss ($16,000/185,500)


(0.09)





Net income

$3.58


Step 2—Test for dilution:



Net Income
Number of
EPS



Impact


Shares

Impact


Convertible bonds

$28,000*

25,000
$1.12



Because $1.12 is less than $3.67, the bonds are dilutive.



*$500,000 ( 0.08 ( 0.70 = $28,000

Step 3—Compute diluted EPS:


Income


Before
Number


Extraordinary
Net


Extraordinary
of
Ordinary
Extraordinary
Loss
Income



Loss


Shares


EPS


Loss


EPS


EPS

Basic EPS

$680,000
185,500
$3.67
$(16,000)
$(0.09)
$3.58

Interest on convertible 

bonds


28,000

25,000









Diluted EPS

$708,000
210,500
$3.36
$(16,000)
$(0.08)
$3.28*

*Rounded down.

18–33.


Step 1—Basic EPS—2008:

Net income

$640,000

Less: Preferred stock dividends (18,000 ( $5)

    90,000
Net income identified with common stock

$550,000
Basic EPS ($550,000/120,000)

$4.58

Step 2—Determine whether convertible securities are dilutive:






Incremental



Net Income

Number of
EPS



Impact


Shares

Impact

Convertible preferred stock

$90,000*

40,000
$2.25


Convertible bonds

63,000†

35,000
1.80


Because both convertible securities are lower than basic EPS, they are both potentially dilutive. Whether the securities are actually dilutive depends on the comparison with the recomputed EPS, as shown in step 3.


*18,000 ( $5 = $90,000


†$1,200,000 ( 0.075 ( 0.70 = $63,000


Step 3—Compute diluted EPS:






Number




Net

of



Description

 Income 


Shares  

EPS


Basic EPS


$550,000
120,000
$4.58


Stock options:



Number of shares 



assumed issued

20,000



Number of treasury shares 



assumed repurchased 



(20,000 ( $15)/$20

(15,000)


Incremental shares


5,000



5,000




$550,000
125,000
4.40


7.5% convertible bonds



63,000

35,000




$613,000
160,000
3.83


Convertible preferred stock



90,000

40,000

Diluted EPS


$703,000
200,000
3.52
PROBLEMS

18–34.



Issued
Stock
Stock

Portion
Weighted


Dates

Shares
Dividend

Split


of Year

Average

2008

Jan. 1 to Mar. 31
50,000
(
1.05
(
4.0

(
3/12
=
52,500

Mar. 31—Sale

10,000
Mar. 31 to July 31
60,000
(
1.05
(
4.0

(
4/12
=
84,000

July 31—Stock Div.

3,000
July 31 to Nov. 1
63,000


(
4.0

(
3/12
=
63,000

Nov. 1—Sale

12,000
Nov. 1 to Dec. 31
75,000


(
4.0

(
2/12
=
  50,000

Weighted-average number of shares

249,500



Issued
Stock
Stock

Portion
Weighted


Dates

Shares
Dividend

Split

of Year

Average

2009

Jan. 1 to Feb. 28
75,000


(
4.0

(
2/12
=
50,000

Feb. 28—T Stock 


purchase

(8,000)

Feb. 28 to Apr. 30
67,000


(
4.0

(
2/12
=
44,667

Apr. 30—Split
201,000
Apr. 30 to Nov. 1
268,000





(
6/12
=
134,000

Nov. 1—T Stock sale

10,000
Nov. 1 to Dec. 31
278,000





(
2/12
=
  46,333

Weighted-average number of shares

275,000
18–35.

1.
Number of shares of stock outstanding


200,000


Income from continuing operations

$
690,000


Extraordinary loss


(60,000)


Net income

$
630,000

Basic EPS:



Continuing operations ($690,000/200,000)


$3.45



Extraordinary loss [$(60,000)/200,000]


(0.30)



Net income ($630,000/200,000)


$3.15
2.
Number of common shares expressed as weighted-average 


number of shares:



Jan. 1 to Apr. 30—120,000 ( 4/12

40,000



May 1 to Sept. 30—180,000 ( 5/12

75,000



Oct. 1 to Dec. 31—200,000 ( 3/12


50,000




165,000

Basic EPS:


Continuing operations ($690,000/165,000)


$4.18


Extraordinary loss [$(60,000)/165,000]


(0.36)


Net income per common share ($630,000/165,000)


$3.82
18–35.
(Concluded)

3.
Same answer as (1). The July 1, 2008, 25% stock dividend increased the number of shares outstanding from 160,000 to 200,000. Stock dividends retroactively affect the shares and thus are assumed outstanding the entire year.

18–36.

Great Northern Inc.

Computations for Basic Earnings per Share—Simple Structure

December 31, 2009

Weighted-average number of shares for 2008:



Issued
Stock
Stock
Portion
Weighted


Dates

Shares
Dividend

Split

of Year

Average

2008

Jan. 1 to May 1
32,500
(
1.08
(
2.0
(
4/12
=
23,400

May 1—Sale

4,500
May 1 to Aug. 1
37,000
(
1.08
(
2.0
(
3/12
=
19,980

Aug. 1—Stock div.

2,960
Aug. 1 to Dec. 31
39,960


(
2.0
(
5/12
=
33,300

Weighted-average number of shares

76,680
Computation of earnings for 2008:

Income before extraordinary gain

$
316,200

Less: Preferred stock dividend ($67,500 ( 0.12)


8,100
Income before extraordinary gain identified with common stock

$
308,100

Extraordinary gain



12,500
Net income identified with common stock

$
320,600

Basic EPS, 2008:


Income before extraordinary gain ($308,100/76,680)

$4.02


Extraordinary gain ($12,500/76,680)


0.16

Net income ($320,600/76,680)

$4.18

Weighted-average number of shares for 2009:



Issued
Stock
Stock
Portion
Weighted


Dates

Shares
Dividend

Split

of Year

Average

2009

Jan. 1 to Jan. 31
39,960


(
2.0
(
1/12
=
6,660

Jan. 31—Sale

1,100
Jan. 31 to June 1
41,060


(
2.0
(
4/12
=
27,373

June 1—Stock split

41,060
June 1 to Sept. 1
82,120




(
3/12
=
20,530

Sept. 1—Pur. T Stock

(500)

Sept. 1 to Nov. 1
81,620




(
2/12
=
13,603

Nov. 1—Sale T Stock

500
Nov. 1 to Dec. 31
82,120




(
2/12
=
13,687

Weighted-average number of shares

81,853
18–36.
(Concluded)

Computation of earnings for 2009:


Retained earnings—December 31, 2009

$
471,200


Less: Retained earnings—December 31, 2008


396,460

Increase in retained earnings

$
74,740


Add dividends in 2009:



Preferred shares

$
9,900*



Common shares


163,240†

173,140

Net income, 2009

$
247,880


Add extraordinary loss


19,000

Income before extraordinary loss

$
266,880


Less: Preferred stock dividend


9,900

Income before extraordinary loss identified with common stock

$
256,980

Basic EPS, 2009:


Income before extraordinary loss ($256,980/81,853)

$3.14


Extraordinary loss [$(19,000)/81,853]


(0.23)


Net income ($237,980/81,853)

$2.91

*$82,500 ( 0.12 = $9,900

†$410,600/$5 = 82,120 – 500 treasury shares = 81,620 ( $2 = $163,240

18–37.

Basic EPS:


Net income

$
589,000


Less: Preferred dividend ($9 ( 5,000)



45,000

Net income identified with common stock

$
544,000


Actual number of shares outstanding


175,000


Basic EPS ($544,000/175,000)

$3.11

Diluted EPS:


Income (see above for basic EPS)

$
544,000


Number of shares outstanding

175,000


Incremental shares:



On assumed exercise of options (32,000 ( 8/12)

21,333



Less: Assumed repurchase of shares with proceeds from 



exercise of options {[(32,000 ( $26)/$62] ( 8/12}


8,946

Incremental shares


12,387

Total weighted shares


187,387

Diluted EPS ($544,000/187,387)

$2.90
18–38.

1.
Basic EPS:



Net income for 2008:




Operating revenue

$
1,120,000




Less: Operating expenses


600,000



Income from operations before taxes

$
520,000




Less: Income taxes (30%)


156,000



Net income

$
364,000



Common shares outstanding

26,000



Basic EPS ($364,000/26,000)

$14.00
2.
Diluted EPS:


Net income to be used in computing diluted EPS:




Net income

$364,000



Number of shares to be used in computing diluted EPS:




Actual number of shares outstanding

26,000




Incremental shares:





On assumed exercise of options


15,000





Less: Assumed repurchase of outstanding shares





from proceeds of options [(15,000 ( $25)/$35]


10,714

4,286



Total


30,286




Diluted EPS ($364,000/30,286)

$12.02
18–39.

Basic EPS:


Income before extraordinary gain

$
142,400


Extraordinary gain—net of taxes



21,000


Net income


$
163,400

Number of shares outstanding:



Jan. 1 to Sept. 1 (25,000 ( 8/12)

16,667



Sept. 1 to Dec. 31 [(25,000 + 1,500) = 26,500 ( 4/12]

 8,833



Weighted-average number of shares

25,500

Basic earnings per common share:



Income before extraordinary gain ($142,400/25,500)

$5.58



Extraordinary gain ($21,000/25,500)


0.82



Net income ($163,400/25,500)

$6.41*
*Basic EPS numbers do not sum to the total because of rounding.

18–39.
(Concluded)

Diluted EPS:


Net income (see above for basic EPS)

$163,400


Weighted-average number of shares outstanding at Dec. 31, 2008

25,500


Incremental shares:




On assumed exercise of options:





Outstanding all year

2,500





Outstanding to Sept. 1, 2008 (1,500 ( 8/12)

1,000





3,500

Less assumed repurchase of shares with proceeds from 


exercise of options:



Outstanding all year [(2,500 ( $12)/$27 



(average price)]

1,111



Outstanding to Sept. 1, 2008 [(1,500 ( $12 ( 8/12)/$25



(price at exercise date)]


480






1,591


Incremental shares


1,909

Weighted-average shares for computing diluted EPS


27,409


Diluted EPS:




Income before extraordinary gain ($142,400/27,409)

$5.20




Extraordinary gain ($21,000/27,409)


0.77



Net income ($163,400/27,409)

$5.96*
*Diluted EPS numbers do not sum to the total because of rounding.
18–40.

1.
Basic EPS:



Weighted-average shares outstanding:




Months

Weighted



Dates

Shares
Outstanding


Average


Jan. 1 to Aug. 31
110,000
(
8/12
=
73,333


Aug. 31 to Dec. 31
140,000
(
4/12
=

46,667




120,000



Net income

$ 
540,000



Weighted-average number of shares outstanding

÷ 
120,000


Basic EPS ($540,000/120,000)

$ 
 4.50


Diluted EPS:



Test for dilution, convertible bonds:


Net Income Impact
Number of Shares

EPS Impact

$28,000
20,000

$1.40


Because $1.40 is less than $4.50, the bonds are dilutive.

18–40.
(Concluded)



Net income

$
540,000



Add interest savings on assumed conversion:




Interest prior to conversion ($1,000,000 ( 0.06 ( 8/12)


$40,000




Less: Income taxes (30%)



12,000

28,000





$
568,000



Number of shares used in computing diluted EPS:




Number of shares for basic EPS


120,000




Incremental shares issued on assumed conversion (30,000 ( 8/12)


20,000



Shares used in computing diluted EPS


140,000



Diluted EPS ($568,000/140,000)

$4.06
2.
Basic loss per share:



Net loss

$
(220,000)



Weighted-average number of shares outstanding [See (1)]

÷
120,000


Loss per share [$(220,000)/120,000]

$
(1.83)


Diluted loss per share assuming conversion of 10-year debentures:



Net loss

$(220,000)



Add interest savings on assumed conversion [See (1)]


28,000





$(192,000)



Shares used in computing diluted loss per share [See (1)]

÷
140,000


Diluted loss per share [$(192,000)/140,000]

$
(1.37)


Because diluted loss per share assuming conversion is less than basic loss per share, convertible securities are antidilutive, and the $1.83 loss per share would be the only reported EPS on the income statement. Conversion always causes antidilution when losses occur.

18–41.

1.
Basic EPS:



Net income

$
860,000



Less: Dividends on preferred stock (10,000 ( $5)



50,000

Net income applicable to common stock

$
810,000



Weighted-average shares outstanding:




Jan. 1 to Sept. 1—280,000 ( 8/12


186,667




Sept. 1 to Dec. 31—336,000 ( 4/12


112,000






298,667



Basic EPS ($810,000/298,667)

$2.71

18–41.
(Concluded)

2.
Diluted EPS:



Test for dilution on convertible bonds:




Interest, net of tax, per $1,000 bond ($1,000 ( 0.10 ( 0.70)

$
70.00




Number of shares

÷
40.00



Incremental EPS ($70/40)

$
1.75
(dilutive)



Net income for basic EPS

$
810,000



Add interest expense net of taxes on convertible bonds



($1,000,000 ( 0.10 ( 0.70)


70,000


Net income for diluted EPS

$
880,000


Weighted-average shares outstanding for basic EPS


298,667



Incremental shares:




On assumed exercise of options

30,000




Less: Shares assumed repurchased from proceeds




of options (30,000 ( $22.50 = $675,000; 




$675,000/$36 average price)

18,750

11,250





309,917




Shares assumed to be issued on conversion of bonds 




[($1,000,000/$1,000) ( 40]


40,000





349,917



Diluted EPS ($880,000/349,917)

$2.51


Because the exercise price for the warrants is greater than the average market price of the stock for the year ($38 > $36), the warrants are antidilutive.

18–42.

Step 1—Basic EPS:

Net income as reported

$
12,750,000


Less: Preferred dividends paid:



June 30 (1,400,000 ( $0.50)

$
700,000



Sept. 30 (1,400,000 ( $0.50)



700,000



Dec. 31 (650,000 ( $0.50)


325,000

1,725,000

Net income less preferred dividends

$
11,025,000

Shares outstanding at December 31, 2008


8,800,000


Less: Shares issued on conversion of preferred stock 


(750,000 ( 2)


1,500,000

Shares outstanding at Jan. 1, 2008


7,300,000

Computation of weighted-average number of shares:



Jan. 1 to Oct. 1

= 7,300,000 ( 9/12
5,475,000



Oct. 1 to Nov. 1

7,300,000 + 2(150,000)
= 7,600,000 ( 1/12
633,333



Nov. 1 to Dec. 31

7,600,000 + 2(600,000)
= 8,800,000 ( 2/12
1,466,667



Weighted-average number of shares


7,575,000


Basic EPS ($11,025,000/7,575,000)

$1.46
18–42.
(Concluded)

Step 2—Determine whether convertible securities are dilutive:






Incremental



Net Income

Number of
EPS



Impact


Shares


Impact



Convertible preferred stock

$1,725,000

1,825,000*
$0.95


Convertible debentures

1,260,000†
1,200,000**
1.05


Because both convertible securities are lower than basic EPS, they are both potentially dilutive. Whether the securities are actually dilutive depends on the comparison with the recomputed EPS, as shown in step 3.


*(1,400,000  ( 2) ( 6/12 = 1,400,000


  (1,250,000 ( 2) ( 1/12  =  208,333


  (650,000    ( 2) ( 2/12  =  216,667


1,400,000 + 208,333 + 216,667 = 1,825,000

†$20,000,000 ( 0.09 ( 0.70 = $1,260,000

**20,000 ( 60 = 1,200,000

Step 3—Compute diluted EPS:




Number of



Description

Net Income


Shares


EPS


Basic EPS


$11,025,000
7,575,000
$1.46


Stock options:



Number of shares 




assumed issued

500,000



Number of treasury shares 




assumed repurchased




[(500,000 ( $20)/$25]

(400,000)



Incremental shares


100,000



100,000





$11,025,000

7,675,000
1.44

Convertible preferred stock



1,725,000

1,825,000





$12,750,000

9,500,000
1.34

9% Convertible debentures



1,260,000

1,200,000

Diluted EPS


$14,010,000

10,700,000
1.31

18–43.

1.
The correct answer is d. 

[image: image1.emf]SharesStockStockStockPortion

OutstandingSplitDividendSplitof YearAverage

1-Jan100000x2x1.1x2x2/12=73333

100000

1-Mar200000xx1.1x2x3/12=110000

20000

1-Jun220000xxx2x2/12=73333

10000

1-Aug230000xxx2x3/12=115000

230000

1-Nov460000xxxx2/12=76667

448333


2.
The correct answer is b.


[image: image2.emf]SharesStockPortion

OutstandingSplitof YearAverage

1-Jan10000x3x4/12=10000

-2000

1-May8000x3x6/12=12000

16000

1-Nov24000x1x2/12=4000

26000


Net income

$17,500

Less preferred dividends


2,500
Net income identified with common stock

$15,000
$15,000/26,000 shares = $0.58 basic earnings per share

18–44.‡

Computation of basic EPS:



Net income


$1,985,000



Less: Dividends on cumulative preferred stock:




30,000 ( $100 ( 0.08

$
240,000




25,000 ( $100 ( 0.10


250,000

490,000


Net income identified with common stock

$
1,495,000



Weighted-average number of shares:




Jan. 1 to Oct. 1 (320,000 ( 9/12).


240,000




Oct. 1 to Dec. 31 (400,000 ( 3/12)


100,000





Total


340,000


Basic EPS ($1,495,000/340,000)


$4.40


Computation of diluted EPS:


Test for dilution of convertible securities:



Net Income

Number of
Incremental



Impact


Shares


EPS


7% Convertible bonds

$122,200*
55,000
$2.22


10% Convertible preferred stock

250,000
75,000
3.33


*$2,350,000 ( 0.08 ( 0.65 = $122,200; effective interest is amount charged to interest 


expense, not paid interest.


Because each security is less than the $4.40 basic EPS, they are both potentially 
dilutive. Whether the securities are actually dilutive depends on the comparison with the recomputed EPS, as shown below.


Net
Number of
Part of
Weighted


Description


Income


Shares



Year



Average


EPS

Basic EPS

$1,495,000
340,000
$4.40

May 1, 2009, options as if 

exercised May 1, 2009:


Number of shares 


assumed issued

20,000


Number of treasury 


shares 

[(20,000 ( $20)/$25]


(16,000)


4,000
8/12

2,667




$1,495,000



342,667
4.36
7% Convertible bonds


122,200




55,000




$1,617,200



397,667
4.07
10% Convertible preferred 


stock


250,000




75,000
Diluted EPS

$1,867,200



472,667
3.95

‡Relates to Expanded Material.

18–45.‡
1.
Basic EPS ($1,406,000/700,000)

$2.01

Diluted EPS:



Test for dilution of convertible bonds:



Increase in



Increase in

Number of
Incremental


Net Income


Shares


EPS



10-yr., 6½% convertible bonds

$
31,850*
70,000

$0.46



20-yr., 7% convertible bonds


49,000†
50,000
0.98



25-yr., 10½% convertible bonds


117,600**
51,200
2.30

COMPUTATIONS:



*$700,000 ( 0.065 ( 0.70 tax effect = $31,850



†$1,000,000 ( 0.07 ( 0.70 tax effect = $49,000



**$1,600,000 ( 0.105 ( 0.70 tax effect = $117,600


Computation of diluted EPS:


Net
Number
Incremental



Income

of Shares

EPS


Basic EPS

$1,406,000

700,000
$2.01


10-yr., 6½% convertible bonds


31,850

70,000


$1,437,850

770,000
1.87


20-yr., 7% convertible bonds


49,000

50,000


$1,486,850

820,000
1.81


25-yr., 10½% convertible bonds


117,600

51,200


$1,604,450

871,200
1.84


Diluted EPS




1.81*


*The 25-yr. bonds are antidilutive and therefore are not included in the computa-


tion of diluted EPS.

2.
Basic EPS assuming conversion of 10-year, 6½% bonds on 


July 1, 2009:



Net income in (1)

$
1,406,000



Add interest savings after conversion



($700,000 ( 0.065 ( 6/12) ( 0.70


15,925


New net income

$
1,421,925



Number of shares in (1)

700,000



Add weighted-average shares from conversion (700 ( 100 ( ½)



35,000


New number of shares



735,000



Basic EPS ($1,421,925/735,000)

$1.93
‡Relates to Expanded Material.

18–45.‡
(Concluded)


Computation of diluted EPS:



Net
Number
Incremental



Income

of Shares

EPS


Basic EPS

$1,421,925
735,000
$1.93


10-yr., 6½% bonds—Assume 


converted at beginning of year


15,925

35,000





$1,437,850
770,000

1.87


20-yr., 7% convertible bonds


49,000

50,000


Diluted EPS

$1,486,850

820,000
1.81*


*The 25-yr. bonds would still be antidilutive because the diluted calculations are the same whether conversion of the 10-year bonds occurs or not.

‡Relates to Expanded Material.

18–46.‡
Step 1—Computation of basic EPS:


Net income

$
2,300,000


Less: Dividends on convertible preferred stock


77,000

Net income identified with common stock

$
2,223,000


Weighted-average number of shares:



Issued
Stock
Stock
Portion
Weighted



Dates

Shares
Dividend

Split
of Year

Average


Jan. 1 to May 1
550,000
(
1.10
(
2.0
(
4/12
=
403,333


May 1—Sale


70,000

May 1 to Aug. 1
620,000
(
1.10
(
2.0
(
3/12
=
341,000


Aug. 1—Stock Dividend

62,000

Aug. 1 to Oct. 1
682,000


(
2.0
(
2/12
=
227,333


Oct. 1—Conversion


71,500

Oct. 1 to Dec. 1
753,500


(
2.0
(
2/12
=
251,167


Dec. 1—Conversion


22,990*


Dec. 1 to Dec. 31
776,490


(
2.0
(
1/12
=

129,415

Weighted-average number of shares




1,352,248


*550 ( 38 ( 1.10 = 22,990


Basic EPS ($2,223,000/1,352,248) 


$1.64
Step 2—Test for dilution of convertible securities assuming conversion at 


January 1, 2009:



Increase in
Increase in



Net
Number
Incremental



Security


Income

of Shares

EPS


$7 convertible preferred stock

$
77,000*
228,250†
$0.34


8½%, 10-year convertible bonds

113,094**
180,088§
0.63

Both of these convertible securities are potentially dilutive. Whether the securities 
are actually dilutive depends on the comparison with the recomputed EPS, as shown in step 3.

COMPUTATIONS:


*$7 ( 11,000 shares = $77,000 


(Paid on Dec. 31, 2009)

†Nonconverted stock: 11,000 ( 
5 shares ( 2.0 ( 1.10

=
121,000


Converted stock: 9/12 ( (13,000 ( 
5 shares ( 2.0 ( 1.10)
=

107,250

Weighted-average shares—convertible 



preferred stock

228,250
**Nonconverted bonds: 0.70 (7.5% ( 
$1,650,000)

=
$
86,625


Converted bonds: 0.70 (7.5% ( 11/12 ( 
$550,000)

=

26,469


Total income effect—convertible bonds

$
113,094

‡Relates to Expanded Material.

18–46.‡
(Concluded)


§Nonconverted bonds: (1,650 ( 38) ( 
2.0 ( 1.10

=

137,940


Converted bonds: 11/12 ( (550 ( 38) ( 
2.0 ( 1.10


=

42,148

Weighted-average shares—convertible 
bonds



180,088
Step 3—Compute diluted EPS:



Number



Description

Net Income
of Shares

EPS



Basic EPS


$2,223,000

1,352,248
$1.64


Stock options:



Number of shares 




assumed issued 




(70,000 ( 2 ( 1.10)

154,000



Number of treasury 




shares assumed 




repurchased [(70,000 ( 




$30)/$51] ( 2 ( 1.10

(90,588)




Incremental shares


63,412



63,412





$2,223,000

1,415,660
1.57

Stock warrants:



Number of shares 




assumed issued 




(50,000 ( 2 ( 1.10)

110,000



Number of treasury 




shares assumed 




repurchased [(50,000 ( 




$45)/$51] ( 2 ( 1.10

(97,059)


Incremental shares


12,941




12,941





$2,223,000

1,428,601
1.56


$7 convertible preferred 


stock


77,000


228,250





$2,300,000

1,656,851
1.39


7½% convertible 


debentures


113,094


180,088

Diluted EPS


$2,413,094

1,836,939
1.31

‡Relates to Expanded Material.

CASES

Discussion Case 18–47

The EPS data are limited for comparison purposes because (1) the number of shares outstanding for each organization may differ, (2) the accounting principles followed by each may differ, (3) the assumptions supporting the EPS computation may not reflect the actual actions of the firm, and (4) each firm may or may not have similar dilutive securities. The EPS is a result of dividing income available to common shareholders by the weighted-average number of common shares outstanding for the period. There is no reason to suggest that the capitalization of one corporation will be the same as another’s capitalization. The capitalization of an organization reflects its objectives and the result of current and past activity, as well as future expectations.

Discussion Case 18–48

Computation of EPS:



2008


2007


2006

Operating income

$
6,500,000
$
7,000,000
$7,500,000

Interest expense (10% ( $5,000,000)



500,000




Taxable income

$
6,000,000
$
7,000,000
$
7,500,000

Income tax (30%)


1,800,000

2,100,000


2,250,000
Net income

$
4,200,000
$
4,900,000
$
5,250,000

Less: Dividend on preferred stock at $8 per share



400,000

400,000


800,000
Net income available for common stock

$
3,800,000
$
4,500,000
$
4,450,000
Number of common stock shares outstanding



800,000

1,000,000

1,000,000
Earnings per share

$
4.75
$
4.50
$
4.45

Farnsworth Company was able to maintain and even increase EPS while operating income declined because in 2007 it retired 50% of the preferred stock (50,000 shares), which eliminated $400,000 of required dividends that would now be available to common stockholders. In 2008, EPS was increased by borrowing money, which in part was used to retire 200,000 shares of common stock. The increase in interest expense of $350,000 after taxes was more than offset by the retirement of 200,000 shares of common stock. The case illustrates how a company can increase EPS despite declining operating income.

Discussion Case 18–49

This case may be used to discuss several essential points concerning EPS. Role-playing could provide a stimulating opportunity for students to try to explain the significance of two EPS figures. The discussion should include an explanation as to why two EPS figures are required and what their significance is intended to be. It also should stress that it is not possible to compare the basic EPS of last year with the diluted EPS of this year because the diluted EPS is reduced by dilutive securities. Basic EPS this year may be lower because income is lower. However, other possible causes for this lower basic EPS include payment in the current year of noncumulative preferred dividends and issuance of additional shares of common stock.

Discussion Case 18–50

1.
a.
A simple capital structure requires presentation of only a basic EPS figure.


b.
A complex capital structure will require presentation of a diluted EPS also. 


To determine whether a company’s capital structure is simple or complex, the balance sheet must be examined for potentially dilutive convertible securities, options, warrants, or rights that upon conversion or exercise could, in the aggregate, dilute EPS. If any of these are present, the capital structure is complex; otherwise, it is simple.

2.
The following treatment should be given to the five items:


a.
A major acquisition of treasury stock will reduce the number of outstanding shares in determining EPS, thus increasing earnings per common share unless the net income decrease from using funds to purchase the stock is more than proportionate to the decline in shares.


b.
Dividends on common stock do not affect EPS. In fact, if the cash is available, dividends per share can exceed EPS.


c.
Dividends paid or declared on preferred stock should be deducted from net income before computing basic EPS. For cumulative preferred stock, this adjustment is appropriate whether or not the dividends are declared or paid.


d.
The common stock outstanding should be based on the number of shares after the split, and a retroactive adjustment should be made for prior periods. Thus, EPS will decrease.


e.
The appropriation of retained earnings will not affect the computation of EPS because it does not affect net income nor the number of shares of stock outstanding.

Discussion Case 18–51

Dilution refers to the negative effect on EPS resulting from the assumption that convertible securities have been converted or that options, warrants, or rights have been exercised. Antidilutive securities would result in an increase in EPS and, as a result, are not included in the computation of diluted EPS.

The purpose of diluted EPS is to provide users of financial information with a measure of what EPS could be if all those individuals for whom it would be profitable to exercise options or convert securities did, in fact, exercise those options and convert their securities.

While the measure is based on assumptions, those assumptions are likely to come to pass—at least, that is the case at the time the financial statements are being prepared.

Discussion Case 18–52

It certainly would be easier to simply include in diluted EPS computations all those securities that are 
potentially dilutive. There would then be no need to order the potentially dilutive securities to determine their incremental impact. Another argument in support of this alternative is that those who exercise options or convert securities are not considering the impact that their actions will have on EPS. As a result, the size of a convertible security’s impact on EPS is not relevant to the individual converting the security. If a convertible security is potentially dilutive, it is more likely that the security will be converted than that it will remain unconverted. Thus, including it in the diluted EPS computations would more closely reflect the events that are expected to occur.

With that said, the FASB elected not to support this alternative but instead elected to go with the option that would result in the most conservative estimate of diluted EPS. Why? Conservatism is the most likely reason. Accounting standard setters have traditionally selected, from a set of acceptable alternatives, those alternatives that result in the most negative impact on a firm’s financial statements.

Case 18–53

1.
This question is a simple mathematical exercise to demonstrate to students that the difficult part of computing EPS is not dividing the numerator by the denominator but rather determining what the numerator and the denominator are. Disney reported net income for 2004 of $2,345 million. The associated income was divided by the average basic shares outstanding of 2,049 million to yield earnings per share of $1.14. 

2.
Dividing $430 million by 2,049 million average shares outstanding results in an average dividend paid per share (loosely) of $0.21 per share. Disney’s dividend payout ratio for 2004 was 0.18 (dividends divided by net income). 

3.
There were no Disney stock splits in the period 2002–2004. However, in June 1998, Disney effected a 
3-for-1 stock split. Whenever a stock split occurs, the stockholders’ equity and per-share values are restated to give retroactive recognition to the stock split in prior periods. The equity is restated for comparability purposes.

Case 18–54

1.

	
	    2004     
	    2003   
	     2002      

	Net income
	$2,278.5 
	$1,471.4 
	$893.5 

	Divided by basic net income per common share
	(    $1.81 
	(    $1.16 
	(    $0.70 

	Weighted-average shares outstanding
	   1,258.8
	   1,268.4
	   1,276.4

	
	
	
	

	Net income
	$2,278.5
	$1,471.4 
	$893.5 

	Divided by diluted net income per common share
	(     $1.79 
	(     $1.15 
	(     $0.70 

	Weighted-average shares outstanding
	    1,272.9
	    1,279.5
	    1,276.4


2.
McDonald’s dividend payout ratio:

	
	   2004  
	   2003  
	  2002  

	Dividends per common share               
	$0.55 
	$0.40 
	$0.24 

	Divided by net income per common share
	( $1.81 
	( $1.16 
	( $0.70 

	Dividend payout ratio
	  30.4%
	  34.5%
	  34.3%



The dividend payout ratio decreased from 2003 to 2004. McDonald’s maintained its steady dividend 
increase yet earnings per share increased by a greater amount.

3.


	
	 2004 
	 2003 
	 2002 

	Dilutive stock options (in millions of shares)
	14.0
	6.7
	8.4

	Antidilutive stock options (in millions of shares)
	  85.5
	159.1
	  148.0

	Total stock options
	99.5
	165.8
	 156.4

	Percentage of stock options that are dilutive
	14.1%
	4.0%
	5.4%



The percentage of stock options that were dilutive in 2004 was higher than in 2003 or 2002 because McDonald’s stock price was higher in 2004. This made the existing options, with fixed exercise prices, more attractive and more likely to be dilutive.

Case 18–55

1.
Underlying EPS represents basic EPS, adjusted in order to exclude exceptional items, goodwill amortization, major restructuring costs (net of tax), and profits and losses on disposal of subsidiaries and investments. Underlying EPS does not reflect any adjustments for potentially dilutive securities.

Case 18–55
(Concluded)

2.
	
	  2004  
	  2003  
	  2002  

	Dilutive stock options (in millions of shares)
	14
	6
	14

	Antidilutive stock options (in millions of shares)
	35
	  77
	  41

	Total stock options
	49
	83
	55

	
	
	
	

	Percentage of stock options that are dilutive
	28.6%
	7.2%
	25.5%


Case 18–56

The objective of this assignment is to cause students to think about why the FASB must consider working with several standard-setting bodies from around the world in developing accounting standards. Students should also consider why the FASB must be very careful when working with these other standard setters in that it (the FASB) does not compromise U.S. GAAP in the spirit of international harmonization.

Because the economy is now global, money can be raised in capital markets around the world. If the U.S. capital markets require the use of U.S. GAAP and U.S. GAAP places an unreasonable burden on companies, those companies can raise their needed funds elsewhere. Thus, the FASB must seek international harmonization of accounting standards to ensure that U.S. capital markets remain as viable players in 
financing the global economy.

But the FASB must use caution because the standards of other countries have historically tended to be less rigorous in terms of disclosure requirements. If the FASB compromises the rigor of its standards in an effort to appeal to the international community, the result may be that domestic investors will get lower-quality financial statement information.

Case 18–57

· When a company reports discontinued operations or extraordinary items, there may be a question as to what income number to use when determining whether or not a potentially dilutive security is dilutive or antidilutive. The number ‘Income from Continuing Operations’ is the control number and is used when assessing whether or not potentially dilutive securities are dilutive.

Case 18–58

This ethical dilemma presents students with the problem of trying to defend the FASB’s position against another viable alternative. The FASB elected to compute and provide to financial statement users the most conservative diluted EPS figure. The FASB could have selected the manager’s position as well. But the fact remains that the FASB did not choose the manager’s position. If the manager insists on computing EPS using a method that is not in accordance with GAAP, external auditors would be forced to issue a qualified audit opinion. In that qualified opinion, the auditors would have to specifically state the reason for the qualification, thereby revealing the manager’s purpose in using the different method for computing EPS.

Case 18–59

Solutions to this problem can be found on the Instructor’s CD-ROM or downloaded from the Web at http://stice.swlearning.com.
853
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				Shares				Stock				Stock				Stock				Portion

				Outstanding				Split				Dividend				Split				of Year				Average

		1-Jan		100000		x		2		x		1.1		x		2		x		2/12		=		73333

				100000

		1-Mar		200000		x				x		1.1		x		2		x		3/12		=		110000

				20000

		1-Jun		220000		x				x				x		2		x		2/12		=		73333

				10000

		1-Aug		230000		x				x				x		2		x		3/12		=		115000

				230000

		1-Nov		460000		x				x				x				x		2/12		=		76667

																								448333





Sheet2

		





Sheet3

		






_1202552758.xls
Sheet1

		

				Shares				Stock				Portion

				Outstanding				Split				of Year				Average

		1-Jan		10000		x		3		x		4/12		=		10000

				-2000

		1-May		8000		x		3		x		6/12		=		12000

				16000

		1-Nov		24000		x		1		x		2/12		=		4000

																26000
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